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Aufgaben-Quickname: 4869

Aufgabe 1

Vereinfache und entferne die Klammern.
a) 8(b+ a) = 8(a? + 2ab + b*) = 8a? + 16ab + 8b°
b) (b+a)?-7 = (a2 + 2ab + b?) - 7 = Ta® + 14ab + 7b?

o) (y — 2)% -6 = (2% — 20y + y?) - 6 = 622 — 12zy + 632
d) (a —14)% -2 = (a® — 28a + 196) - 2 = 2a2 — 56a + 392
) ( —y)2~8: (2% — 2zy + %) - 8 = 8% — 162y + 8y*
1 8(a+ 14)? = 8(a? + 28a + 196) = 8a% + 224a + 1568
g) (10 + a)2 9= (a2 +20a + 100) - 9 = 942 + 180a + 900
h) 10(6 + a) = 10(a + 12a + 36) = 10a? 4 120a + 360

i) 6(8 — a)? = 6(a® — 16a + 64) = 6a2 — 96a + 384
i) 8(14 — 2)? = 8(x% — 28z + 196) = 822 — 224z + 1568
Aufgabe 2
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Vereinfache und entferne die Klammern.

a) (16 + a)(16 — a) + 9 = (256 — a?) + 9 = 265 — a?

b) (12+x)(12—x)—|—7—(144—:1:2)—1—7:151—332

¢) (a+14)(a—14) :(a2—196)—a2:—196

d) (16 — ) +16a—( 2 — 324+ 256) + 16a = a® — 16a + 256
) (a — )+a2 (a® — 2ab + b?) + a® = 2a® — 2ab + b

N (a—0b)?+8 = (a2 — 2ab+ b2) + 8 = a® — 2ab + b% + 8

g) (15 + x)(15 — x) + 4 = (225 — 22) + 4 = 229 — z°

h) yz + (z +y)(z —y) = yz + (2 — y?) = 2% + 2y — ¢

i) (y — )2 vy = (2% — 2zy + y*) — wy = 2% — 3wy +

i) (a — 16)? — 16a = (a% — 32a + 256) — 16a = a® — 48a + 256
Aufgabe 3

@

—

Vereinfache und entferne die Klammern. Wende die binomischen Formeln an.

a) 5+ (a+b)% =5+ (a2 + 2ab + b?) = a® + 2ab+ b2 + 5
b) (a + 13)% 4+ 6 = (a2 4 26a + 169) + 6 = a2 + 26a + 175
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¢) (a+0)2 —7=(a®+2ab+b%) —7=0a2+2ab+b> -7
d) (x+y) 6 = (22 + 2zy + y?) - 6 = 622 + 122y + 6y°
e) (17 + a)? +7: (a2+34a+289)+7:a2+34a+296
f) 6+(14+a) —6—|—(a + 28a + 196) = a® + 28a + 202
g) (a+b)? —4=(a? +2ab+b2) 4 =a®+2ab+b? —
h) (z+11)2 — 6 = (22 +22:1:+121)—6::1:2+22:1:+115
1)3+(y+a:) =34 (2?4 20y +y2) = 2%+ 2zy + %> + 3
D) (y+x)*10 = (27
Aufgabe 4
Vereinfache und entferne die Klammern.
a) a(b—a)? = a(a® — 2ab + b?) = a® — 2a%b + ab?
b) a(b + a)? = a(a? + 2ab + b?) = a® + 2a%b + ab?
) (y+ x)2:z: = (22 4 2zy + vz = 23 + 222y + 212

)2 = 7(a? — 16a + 64) = 7a® — 112a + 448
)a(z +y)(z —y) = x(2® — y?) = 27 — 2y’
f) (z+15)%- 5 = (% + 30z + 225) - 5 = 522 + 150z + 1125
= x(2? + 22y + y?) = 23 + 222y + 212
(12 — 2)°z = (22 — 24z + 144)z = 23 — 2422 + 144z
7(12 + 2)(12 — x) = 7(144 — 2%) = 1008 — 72>
2(3—z)? = z(2? — 62 +9) = 2% — 622 + 9z

Viel Erfolg!
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+ 22y + y?) - 10 = 1022 + 202y + 10y?
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